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PART -1

Answer any three of the following questions :

1.  Discuss the various methods of measuring National Income. 14
2. Explain the various concepts of National Income. 14
3.  Explain J.B. Say’s Law of market. 14
4.  Explain Pigou’s theory of wage-cut. 14
5. Discuss the Keynesian theory of multiplier. 14
6.  Discuss Keynesian consumption function. 14
7. Give the meaning of trade cycle and explain its stages. 14
8.  Discuss the Hicksian theory of trade cycle. 14
PART - 11
9.  Choose the correct option : (any four) 8

(1)  Why Gross National Income is greater than Net National Income ?
(a) Depreciation cost
(b) Consumption cost

(c) Investment cost
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There are definition of National Income.
(a) Two (b) Three

Marginal propensity to consume =

AC
(@ C/Y (b) AY
Trade Cycle is a part of economic system.
(a) Socialist (b) Communist

In a Trade Cycle recession is followed by

(a) Boom (b) Depression
Keynes formulates the multiplier.
(a) Employment (b) Investment

National Income/Population =
(a) Gross Domestic Product
(b) Net Domestic Product

(¢) Per Capital Income
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Capitalist

Recovery

Consumption

In developing countries the marginal propensity to consume is normally

(a) Low (b) High

(©)

Constant



